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1. According to the FASB's conceptual framework, predictive value is an ingredient of

Belevance Reliability Relevances Relability
a. Yes ey b. Ves IR 3!
G Mo Yeg d Mo Mo

7 The accounting principle ot matching is best demonstrated by
1. nol recognizing any expene unless some revenue is realized.
b, associating elliit {espense) with accomplishment (revenue)}.
. recognizing prepaid rent received as revenue,
d. establishing an Appropriation for Contingencies account.
3 I urder to be clagsified as an extrunrdinary item in the income statement, an event o Lransaction
should be
a, unusual in nature, infrequent, and material in amount.
b. unusual in nature and infrequent, but it need not be material.
¢. infrequent and material in amount, but it need not be unusual i naturs,
4 unusaal in nature and material, but 1t need not be infrequent.
4 In & statement of cash flows, receipts from sales of property, plant, amd equipment and other
productive assets should generally he classified as cash inflows from
a, operating activities  Db. financing activities ¢ investing aclivities. d. selling activities.
[ 017 Hart Co. assigned $500,000 of accounts receivable to Moocn Finance Co. ag secunty [or a
" loan of $420,000. Moon charged & 2% commission an the amount of the loan; the interest rate on
the note was 10%, Thuring the first month, Hart collected 5140,000 on assigned accounts after
decucting $380 of discounts,  Hart accepted returns worth $1,350 and wrote off assigned
accounts totaling $3,730.
5. [Q17 The amount of cash Hart received from Moon at the time ol the assignment was
a. $378,000. L. $410,000, o 341160 d, $420,000,
& [(17 The entries to record the collections during the first monch would include a
a. dehit to Cash of $140,380. b. debit to Dad Debts Expense of §3 730
o debit to Allowance lor Doubtful Accounts of 33,730,
d. credit to Accounts Receivable of $145,460
7 Cass Co. received merchandise on consignment.  As of March 31, Cass had recorded the
transaction as a purchnse and included the goods in inventory The effect of this on it financial
statements for March 31 would be
a. no effect.
b. met income was correct and current assets and current liabilities were overstated
c. net Income, eurrenl assets, and current liabilities were overstated.
d. net income and current liabilities were averstated,
4. Byrd Co. accepted delivery of merchandise which it purchased on aceount.  As of December 31,

Byrd had recorded the transaction, hut did not include the merchandise in its imventory The effect

of this on ita financial statements for December 31 would be
a net income, current assets, and retained earnings were understated.
b nel income was correet and current assets were understated.
¢ net income was undersiated and current liahilitics were overstated.
d mel mcome was overstated and current assets were understated.

§ To produce an inventory valuation which approximates Lhe lower of cost or market using the
conventional retail inventory method, the computation of the ratio of cost Lo retail should
a. include markups but not markdowns. b, include markups and markdowns
e ignore both markups and markdewns d. include markdowns but not markups,
|0 When calenlating U cost ratie for the retml mventory methesd,
1 ifil is the conventional methed, the beginning inventory i included and markdowns are

deducted.
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b l.ﬁl:- is the LIFO method, the b:gmmug mveumrg.. is exchuded and markdowns are deducted. ey,

¢ if it is the LIFO method, the begimming mventory is mcloded and markdowns are not deducted, uﬂ

d. if'it is the conventional methed, the beginning inventory is excluded and markdowns are not g
deducted. |

17 On Jaruary 1, 1991, Edge Corporatron purchased for 331,000, squipment having a useful life of 52
_ten years and an estimated salvage value of $1,000,  Edge has recorded monthly depreciation of |j;_ i
the equipment on the straight-line method. On December 31, 1999, the equipment was sold i TR
25,000 Asa resobt of this sale, Edge should recogmee o gan of II: :

a 80 b 1,000 c SLO00  d.§5000 '

12.Which of the following pnnciples BEST describes the current method of accounting for research :J

and develppment costs?
&, Associating cause and effect b. Systematic and rational allecation
€ [ncome tax mimmization d. ITmmediate recognition ns an expense

13 Reves Corporation, which has a calendar year accounting peried, purchased a new machine for
F30.000 on Apnl 1, 1994, At that tme Keyes expected to use the machine tor mine years and
then gell it for $3,000, The machine was sold for $16,500 on Sept, 30, 1999,

Assuming straight-line depreciation, no depreciation in the year of acquisition, and a full year of
depreciation in the year of renrement, the gain to be recogmized at the time of aale would be
a, $3,000, b. 52,250, ¢. 51,500, d. 0,

14 Gowan Products Corp. provides an icentive compensation plan under which its president
receives a bomus equal to 20% of the Corporation's income in excess of $200,000 before income
tax but after the bonus. T income before tax and bonus iz 5800 000 and the effective tax rate ig
30%, the amount of the bonus would be

a. $E4 000 b. 5100 000 o, B120,000. d 5160 000
[QZz] On January 1, 2000, Albus Co, issued cight-vear bonds with a face value of $100,000 and a
stated interest rate of 6%, pavable semiannually on June 30 and December 31 The bonds were
aobd to yield 8%, Table values are.
Present value of 1 for & periods ar 6% 4627 Present value of 1 for 8 periods ar 8% 0540
Present value of 1 for 16 periods at 3%: 0,623 Present value of 1 for 16 periods at 4% 0.534
Present value of annuity for 8 peniods at 6% 6210
Present value of annuity for § periods at 8% 25,747
Present value of anmuity for 16 perieds at 3% 12.561
Present value of annuity for 16 periods at 4% :11.652
15.[ 21 The present value of the princtpal is & 853,400 b, 854,000 ¢ 862300 o 62,700,
16, [ Q2] The present value of the interest is 8, $34, 482, b, $34,956, ¢ $17,260, d 537,681,
17. [ Q2] The issue price of the bonds is a $88.355. b 3$BB. 482 ¢ $88.9%6, d. 599950
[ Q3] Jay Co. had issued 100,000 shares of 510 par common stock for $1,200,000,  Jay acquired
10,004 shares of its own cornmon stock at 315 per share,  Three menths later Jay sold 5,000 of

these shares at 819 per shara
ig, [ 3] Ifthe cost method is used 1o record treasury stock rransacrions, 1o record the sale of the
5,000 treasury shares, JTay should credit

a. I'reasury Stock for 535,000,
h Treasury Stock [oe 550,000 and Paid-in Capstal from Treasury Stock for $45,000.

¢, Treasury Stock 575,000 and Paid-in Capital from Treasury Stock for $20,000
d. Treasury Stock 375,000 and Paid-in Capital tn Excess of Par for 320,000,
19, [Q3] If the par vatue method is used to record treasury stock transactions, to record the sale of

the 5,000 treasury sharas, Iny should cradit

a. Treasury Stock for 595,000,
h. Treasury Stock for $50,000 and Paid-in Capital in Excess of Par for 543,000

¢ Treasury Stock for 550,000 and Paid-in Capital from Tredsury Stock for 545,000,
d. Treasury Stock for 75,000 and Paid-in Capital from Treasury Stock for $20,000,
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20.0n May 1, 1590, Tom Corp. declared and isgued a 10% common stock dividend. Proor to this
dividend, Tom had 100,004 shares of 31 par value common stock issued and outstanding. The fair
value of Tom's commen stock was 530 per share on May 1, 1999 Ax a result of this stock
dividend, Tom's total sinckhalders' equity a. increased by $300,000.

b. decreased by $300,000. ¢ decressed by $10,000,  d. did NOT change.

21.East Construction Company uses the percentage-of-completion method of accountng. 1o 1393,

East began work on a contract it had received wlich provided for a contract price of $5,000,000

Other details tollow: 1 900
£1.600_000

Costs incurred during the year
Estimated costs to complete as of December 31 2,400,000
Billinga during the year 1, 50H: 000
Collections during the year 900,000
What should be the gross profit recognized in 19997
a $100,000. b $3,400000.  c $400,000.  d, $1,000,000.
[ Q4] King Co. at the end of 1999, its first year of aperations, prepared a reconciliation between

pretast financial income and {axable income as follows:
Pretax financial income $300,000
Estimated liigation expense 400,000
Dxtra deprecintion Tor taxes (600,000
Taxable mncome 100,000

-

4% -3

The estimated fitigation expense of $400,000 will be deductible in 2000 when it is expected to be

peid. Use of the depreciahle assets will result in taxable amounts of $200,000 in each of the next

three years. The income tax rate i3 30% for all years.
22. [Q4] Income tax payable is a. $0. b, §30,000 . 560,000, d, $90,000,

13, [04] The deferred tax asset to be recognized is
a $30,000 current. b, $60,000 current. o $%0,000 current. d. $120,000 current.
24, Tn sccounting for & pension plan, any difference between the pension cosl charged to expense
and the payments into the fund should be reported as
a an offset to the Fahility for prior service cost. b, accrued or prepard pension cost.

c. an accrued actuarial lisbility.  d. a charge or credit (o unrealized appreciation and depreciation.

[(25] Alcott leased equipment to Cook Company on May 1, 1096, At that time the collectibility

of the minimum lease payments was NOT reasonahly predictable.  The lease expires on May 1
1998 Cook could have hought the squipment from Aleort for $400,000 instead of leasing it

Alcott's accounting records showed a hook value for the equipment on May 1, 1994, of $330,000.
Alcotl's depreciation on the eguipment in 19965 was §45. 000 Dunng 1996, Cook paid $90,000
in rentsls 1o Aleott for the 8-month pesiod, Alcott incurred main-tenance and other redated costs

under the terms of the lease of $8,000 in 1996, After the lease with Cook expires, Alcott will

lease the equipment to Teltec Company for another Lwo years.

25. [Q5]) The income betore income laxes derived by Aleott from Uhis lease for the year ended

December 31, 1996, should be a, $37,000.

b, §45,000 c. §82,000, 4, $90,000.

26, [05] IGNORING INCOME TANES the amount of expense incurred by Cook rom this lease

for the year ended December 31, 1996, should be

8 $37.000, b 545000 o 582,000, d.590,000,

27, If & company converted a short-term note payable it a long-term note payahle, this transaction
would  a decrease only working capital. b, decrease both working capital and the current ratio.

c. increase only working capital,  d. increase both working capital and the current ratio

7% An example of 2 change in accounting principle th
the

b LIFO method to the FIFQ method for inventory valuaticn.
¢. sum-of-the-years'-digits methad Lo the straight-line method.

at ghould be handled currently is a change from

a. completed-contract methoud Lo the percentage-of-completion method [or long-term contracts,

d. "full cost” method to another method in the extractive industry.
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{ =) {24% ) The balance sheet data of the Parker Company at the el of 1999 and 1998 follow:

Cash

Accounta receivahle (ner)
Merchandise inventory
Frepaid expenses
Buildings and equipment

Accumulated depreciation--buildings and equipment

Land
Totalz

Accounts pavable
Accrued expunsas

Notes payable-bank, long-term
Mol tpape payahle

Common stock, $10 par
Fetanmed sarnings (deficit)

[ Yy | S
$ 20,000 ¢ 30,000
G, D00 50,000
75,00 45,000
10,600 25,000
95 {00 75.000
{18,000 EREY
CESOUL 40000
$327 (1) $257,000
% 65,000 < 45,000
15,000 18,004
50,600
35,000
204,000 153,000
— 8000 154
$327 00

Land was acquired for 345,000 in exchange fin commaon stock, par $45,000, during the vear; all
equipment purchased was for cash.  Equiptment costing 57,000 wag gold for 53,000, book velhie of
the equipment was $5,000 and the loss was reported as an ordinary item in net income. Cash
dividleruls of $15 000 were charged to rerained earnings and paid during the year; the transfer of net

income to retained earnings was the only other entry in the Retaned Earnings account,

NSTRUCTIONS [ s/ HIch=r S gE )

Prepare a stlement af cash flows for the year ended December 31, 1999, for Parker Company.

L b C20% ) mddsu il RR 12 )] N QW EAEERLOT

A4S |

-l - T A TV S St 4
MR I12H 3 H

T R N | 227 hE HE  RORE | S
B | B700,000]  $T00MN|ETEEAE B L 700,000 800,000
WL CRpEE) 320,000 300,000  IHF[E]  Sunou| 200,000
RS 520,000 500,000 MBS so0000]  S00000
PR (fEsRSE | 2evoo0l  300,000] tdEE To0.000] 700000

IR R0 | J] 1 Fapaill (1) S1,800,000 5 (23 $1,100,000 5 (1 S500. 000 % — 8
A () A A T s ]+ A s T R A b TR I T A o i

———mr . wm




